jamato

Instruction Manual

PNEUMATIC UNDER THREAD TRIMMING DEVICE
PNEUMATIC TOP COVER THREAD TRIMMING DEVICE

UT-A34, UT-A34/ST2-A UT-A44, UT-A44/ST2-A

VES2700-8 class
VESB?OO—S class

Thank you for having purchased UT-A device.
Before using your UT-A device, please read the instruction
manual and understand the contents well.
After reading the instruction manual, please keep it in a
location where it is easily accessible to the operator.

\ J

% VAMATO SEWING MACHINE M. 60,LTD.






CONTENTS

1. Proper operation 1
1.1 Operating procedure for UT-A34 device 1
1.2 Operating procedure for UT-A34/ST2-A device 2
1.3 Operating procedure for UT-A44 device 3
1.4 Operating procedure for UT-A44/ST2-A device 4

2. Wiring 5
2.1 Detector switch 5
2.1.1 Adjusting detector switch 5
2.1.2 Connecting detector switch 5
2.2 Connecting intermediate cable 6
2.2.1 Solencid valves side 6
2.2.2 Motor side 6
2.2.3 Solenoid valve number and intermediate cable part number 6

3. Air piping diagram ]
3.1 UT-A34 device (VES2700-8 class) 7
3.2 UT-A34/ST2-A device (VES2700-8 class) 8
3.3 UT-A44 device (VES3700 class) 9
3.4 UT-A44/ST2-A device (VEC3700-8 class) 10

4. Installing synchronizer 11




CONTENTS

5. Adjusting thread trimming mechanism 12
5.1 Thread trimming air cylinder 12
5.2 Position of lower knife 12
5.3 Relation between upper and lower knives 12
5.4 Positions of clamp spring and clamp spring presser 13
5.5 Pressure of clamp spring 13
5.6 Position of upper knife carrier 13
5.7 Relation between lower knife and needle 14
5.8 Position of lower knife tip 15
5.9 Lower knife carrier guide (upper) 15
5.10 Relation between lower knife and needle thread or looper thread 16

6. Adjusting tension release mechanism 17
6.1 Tension release block 17
6.2 Tension release connecting plate 17
6.3 Thread pull-off lever 17
6.4 Looper thread pull-off 18
6.5 Tension disc separator - 19
6.6 Thread pull-off hook unit 19

1. Adjusting air wiper 20

8. Presser foot lifter mechanism 21

9. ST2-A device 22
9.1 Position of movable trimming knife 22
9.2 Engagement between movable and fixed trimming knvies 23
9.3 Pressure of thread clamp spring 24
9.4 Adjusting thread pull-off hook unit 24

*k%kkk [LLUSTRATED PARTS LIST sk %k % k.

Attention

The description in this instruction manual is subject to change for improvements of the commodity without
notice.




1 .Proper operation

A\ CAUTION

Be sure to place a fabric under the presser foot when operating.

1.1 Operating procedure for UT-A34 device

The motor can be selected 1 position or 2 position.

The operating procedure for 1 position and 2 posi- (:-:)
tion is mentioned below.

(1) Place a fabric under the presser foot and toe
down the pedal. (Fig. 1 @)
The machine starts sewing.
(2) Release the pedal. (Fig. 1 @)

,,,—C) start
——®) neutral

The needle stops at the lowest point. =/ *\\\55%)
(Skip this procedure when 1 position is thread trimming
selected. ) presser foot lifting

(3) Heel back the pedal. (Fig. 1 ®) Fig. 1

The needle rises and stops at the highest
point.
The trimming knife mechanism operates to cut
the needle and the looper threads under the
stitch plate. The looper thread is held with
the clamp spring.
And then, the presser foot is raised and the
air wiper blows the air . The air wiper stops
blowing after two seconds.

(4) Release the pedal. (Fig. 1 @)

The presser foot is lowered.

NOTE

The presser foot can be moved up and down by heeling
back the pedal to the positions @ and ® until the pedal
is toed down to the positionD.

1 ' VES/UT-A



1.Proper operation

1.2 Operating procedure for UT-A34/ST2-A device

The motor can be selected 1 position or 2 position.
The operating procedure for 1 position and 2 posi—
tion is mentioned below.

(1) Place a fabric under the presser foot and toe
down the pedal. (Fig. 2 @)
The machine starts sewing.
(2) Release the pedal. (Fig. 2 @)

The needle stops at the lowest point.
(Skip this procedure when 1 position is
selected.)

(3) Heel back the pedal. (Fig. 2 ®)
The needle rises and stops at the highest
point.
The trimming knife mechanism operates to cut
the needle and the looper threads under the
stitch plate. The looper thread is held with
the clamp spring.
ST2~A device operates to cut and hold the top
cover thread.
And then, the presser foot is raised.

(4) Release the pedal. (Fig. 2 @)

The presser foot is lowered.

NOTE

The presser foot can be moved up and down by heeling
back the pedal to the positions @ and @ until the pedal
is toed down to the position .

_-—»CD start

~ ——@) neutral

*\\\¢§%:>

thread trimming
presser foot lifting

Fig. 2

VES/UT-A 2




1.Proper operation

The motor can be selected 1 position or 2 position.
The operating procedure for 1 position and 2 posi—

tion is mentioned below.

(1) Heel back the pedal to raise the presser foot.
(2) Place a fabric under the presser foot and toe
down the pedal. (Fig. 3 )
The machine starts sewing and suctioning chips.
(3) Release the pedal. (Fig. 3 @)
Suction stops chips.
The needle stops at the lowest point.
(Skip this procedure when 1 position is
selected.)
(4) Heel back the pedal. (Fig. 3 ®)
The needle rises and stops at the highest
point.
The trimming knife mechanism operates to cut
the needle and the looper threads under the
stitch plate. The looper thread is held with
the clamp spring.
And then, the presser foot is raised and the
air wiper blows the air.
The air wiper stops blowing after 2 seconds.

(5) Release the pedal. (Fig. 3 @)

The presser foot is lowered.

NOTE

The presser foot can be moved up and down by heeling
back the pedal to the positions @ and ® until the pedal
is toed down to the position@.

1.3 Operating procedure for UT-A44 devices

(D start

——-C) neutral

thread trimming
presser foot lifting

Fig. 3

VES/UT-A



1.Proper operation

The motor can be selected 1 position or 2 position.
The operating procedure for 1 position and 2 posi-
tion is mentioned below.

(1) Heel back the pedal to raise the presser foot.
(2) Place a fabric under the presser foot and toe
down the pedal. (Fig. 4 (D)
The machine starts sewing and suctioning chips.
(3) Release the pedal. (Fig. 4 ®)
Suction stops chips.
The needle stops at the lowest point.
(Skip this procedure when 1 position is
selected.)
(4) Heel back the pedal. (Fig. 4 ®)
The needle rises and stops at the highest
point.
The trimming knife mechanism operates to cut
the needle and the looper threads under the
stitch plate. The looper thread is held with
the clamp spring.
ST2-A device operates to cut and hold the
top cover thread.
And then, the presser foot is raised.

(5) Release the pedal. (Fig. 4 @)
The presser foot is lowered.

NOTE

The presser foot can be moved up and down by heeling
back the pedal to the positions @ and @ until the pedal
is toed down to the position(D.

1.4 Operating procedure for UT-A44/ST2-A devices

.,—«() start

——® neutral

o/ ND
©)
thread trimming
presser foot lifting
Fig. 4

VES/UT-A 4




2.Wiring

2.1 Detector switch

2.1.1 Adjusting detector switch

The detector switch works so that the machine does
not run until the trimming knife returns to its

original position.

(1) Loosen the screws@® and @.
(2) Adjust the positions of the detector switch®
and the switch guide® as below.
@ Make the switch turn ON when the trimming
knife returns to its original position.
@ Make the switch turn OFF when the front of
the upper knife touches the looper with mov-

ing the air cylinder by hand.
(3) Tighten the screws @ and @ securely.

2.1.2 Connecting detector switch

(1) Connect the cords of the detector switch to the

3P-connector with the numbers as below.

black cord : @
white cord : ®
red cord : @

(2) Connect the 3P-connector of the detector switch
to that of the intermediate cable.

black white

O) &)

@)

Fig. 6

detector switch

intermediate

cable

Fig. 7

VES/UT-A



2.Wiring

2.2 Connecting intermediate cable
2.2.1 Solenoid valves side

Insert the connectors of the intermediate cable to

the solenoid valves until you hear them click. .
solenoid

Y,

@?

0

A S R

(5

intermediate

2.2.2 Motor side

Connect the connectors of the intermediate cable
to those of the control box. They are the same in
color and shape.

Note: If not the same, it can cause the damage

NOTES

1. Figure 10 shows three solenoid valves.
2. The intermediate cable depends on your motor.

2.2.3 Solenoid valve number and intermediate cable part number

intermed

looper | presse . top chip numbex iate

thread|r foot| 2% cover €S suctioning of cable

utter | Lifter wiper | thread| device ive solenoid art

cutte cutter p1b valves p

: number
/UT-A34 (VES2700-8 classes) ® @ ©) X X X 3 1200452
/UT-A34/ST2-A(VES2700-8 classes)| @ @ X ® X X 3 1200452
/UT-A44 (VES3700-8 class) ) @ ® X X @ 4 1200454
/UT-A44/ST2-A (VES3700-8 class) @ @ X © X @ 4 1200454

Table 1

Notes 1 ! The circled number shows the solenoid valve number.
2 : The part number of the intermediate cable shows the use for our specified motor
(Mitsubishi Motors : FY100, or HY100).

VES/UT-A 6



3. Air piping diagram

3.1 UT-A34 device (VES2700-8 calss)

2.5 X 4 X 450 mm

2.5 X 4 X 150 mm

2.5 X 4 X 400 mm

2.5 X 4 X 450 mm

solenoid valve

complete set

4 X 6 X 1500 mm

air pressure
standard: 0.4 MPa(4 kgf/cm’)
usable range: 0.35—0.45 MPa

Fig. 9

7 VES/UT-A



3.Air piping diagram

2.5 X 4 X 700 mm

2.5 X 4 X 750 mm

4 X 6 X 1500 mm

air pressure

3.2 UT-A34/ST2-A device (VES2700-8 class)

/2.5><4><450mm

2.5 X 4 X 400 mm

solenoid valve

complete set

standard: 0.4 MPa(4 kgf/cm?)

usable range: 0.35— 0.45 MPa

Fig. 10

VES/UT-A



3.Air piping diagram

3.3 UT-A44 device (VES3700-8 class)

2.5 X 4 X 450 mm

2.5 X 4 X 450 mm

2.5 X 4 X 400 mm

2.5 X4 X100 mm

4 X 6 X 1500 mm

solenoid valve

complete set

air pressure
standard: 0.4 MPa(4 kgf/cm®) 2.5 X 42X 30 mm

usable range: 0.35—0.45 MPa

4 X6 X 1000 mm

Fig. 11

VES/UT-A
9



3.Air piping diagram

3.4 UT-A44/ST2-A device (VES3700-8 calss)

2.5 X 4 X 450 mm

2.5 X 4 X 100 mm

2.5 X 4 X 750 mm

2.5 X 4 X 700 mm

solenoid valve

complete set

el \//§ 2

= -
K

-'51 Iair ressure 2.5 X 4 X 30 mn
N>

= —~—

[

standard: 0.4 MPa(4 kgf/cm )
E usable range: 0.35—0.45 MPa 4 X 6 X 1000 mm

Fig. 12

VES/UT-A 10



4 .Installing synchronizer

/A CAUTION

Unplug all intermediate cables connected to the solenoid
valves.

If not, the parts may be touched and broken.

(1) Install the synchronizer@ on the machine pul-
ley and tighten the screws® slightly.

(2) Set the synchronizer positioning pin® into
the groove of the synchronizer @ and tighten
the screw® securely.

(3) Turn the motor switch “ON”

(4) Toe down the pedal to sew two or three stitches

(5) Heel back the pedal. Then the needle stops a
certain position.

(6) Loosen the screws® and rotate the pulley clock—
wise. Align the line of the handwheel ® with
the hole® of the machine arm with keeping the
positions of the screws® (be sure not to ro-

tate the shaft of the synchronizer).

NOTES

1. The needle bar is at the highest point at (6).

2. Use this device when the needle bar is at the position
0.5 mm helow its highest point by further rotating the
pulley.

(7) Toe down the pedal to sew a few stitches. Check
that the needle bar stops at the position 0.5
mm below its highest point.

After installing the syncronizer, see “2.2.1 So-
lenoid valves side” to connect all intermediate

cables to the solnoid valves.

WA

——
Fig. 13
P
(S
Fig. 14

11

VES/UT-A



5. Adjusting thread trimming mechanism

/AWARNING

[ALWAYS turn the motor switch OFF and check that the motor has been already stopped.

5.1 Thread trimming air cylinder

The proper stroke of the air cylinder is 15 mm.
Loosen the screw® of the collar @D to adjust it.

A\ CAUTION

Readjust the thread trimming mechanism after changing
the stroke of the air cylinder.

52 Position of lower knife

A\ CAUTION

Operate the trimming knife mechanism manually only
when the needle is at the highest point. If not, the parts
may be touched and broken.

(1) Set the part®@ on the upper knife @ parallel
to the part® on the lower knife carrier®.
(2) Tighten the screws @ securely.

Fig. 15

Fig. 16

¥ .

5.3 Relation between upper and lower knives

(1) Loosen the screws@.

(2) Adjust the needle thread hook ® of the lower
knife to pass at the corner @ of the upper
knife @.

(3) Move the lower knife at the extreme right and
the upper knife®@ right or left. Make the en—
gagement between the looper thread hook@ and
the upper knife® to 0.5 mm.

(4) Tighten the screws®@ securely.

Fig. 17

VES/UT-A 12




5.Adjusting thread trimming mechanism

5.4 Positions of clamp spring and clamp spring presser

(1) Loosen the screws®).

(2) Set the part@ of the lower knife(d) even with
the back of the clamp spring® when the lower
knife moves to the right.

(3) Tighten the screws® securely.

(4) Loosen the screws®).

(6) Set the back of the clamp spring pressure ®
even with the backs of the lower knife @ and
the clamp spring®.

(6) Make the distance between the left tip of the
clamp spring pressure® and the upper knife
tip to 1 mm.

(7) Tighten the screws® securely.

5.5 Pressure of clamp spring

The looper thread is caught and held with the clamp

spring®@ after cutting it.

Turn the adjusting screw® to adjust the pressure.
@® To increase the pressure, turn it clockwise.
@® To decrease the pressure, turn it counter-—

clockwise.

Keep the pressure to a minimum for holding the

looper thread.

5.6 Position of upper knife carrier

The upper knife carrier @ slides to the left si—
multaneously with the lower knife carrier®.

And it stops by touching the upper knife carrier
stop.

The upper knife slides under the stitch plate

The upper knife carrier stop positions with the

screws @ automatically.

A
< Ajﬁﬁiiiﬁi

AL

oA

VES/UT-A



5.Adjusting thread trimming mechanism

5.7 Relation between lower knife and needle

(1) Loosen the nuts®.

(2) Move the lower knife@® at the extreme left. C?

(3) Move the connecting block @ right or left to '
make the distance between the needle thread

hook®@ and the left needle to 3.5 — 4.5 mm. @ @ m
(4) Tighten the nuts® securely.

Fig. 21

Fig. 22

VES/UT-A 14



5.Adjusting thread trimming mechanism

]
5.8 Position of lower kinfe tip

(1) Move the lower knife@ to the left

(2) When the distance between the tip@ of the lower knife(@ and the right end of the looper
is 12 mm, center the tip® with the flat part of the looper.

(3) Loosen the screw® and turn the knife guide lever ring(right)@ to adjust the tip@®.
@® To move the tip backward, turn it clockwise.

@® To move the tip forward, turn it counterclockwise.
(4) Tighten the screw® securely.

Fig. 23 Fig. 24

5.9 Lower knife carrier guide (upper)

The upper knife carrier slides to the left simul-

taneously with the lower knife carrier.

And it stops by touching the upper knife carrier {0.05 - 0.1 mm]
stop. '

(1) Loosen the screws®).

(2) Make the clearance between the lower knife

carrier ® and the lower knife carrier guide
(upper) @ to 0.05 — 0.1 mm when the upper knife
carrier stops.

(3) Tighten the screws® securely.

Fig. 2b




5.Adjusting thread trimming mechanism

5.10 Relation between lower knife and needle thread or looper thread

After all adjustings, recheck following points before

sewing.

% The lower knife@ should pass through the needle
thread loops ® and ®, and the hook @ should
pass in front of the looper thread.

Fig. 26

% The needle and the looper threads are pulled
with the hooks @ and ® to the right when the
lower knife @ returns. Then the upper knife
cuts the threads.

Fig. 27

VES/UT-A 16



6.Adjusting tension release mechanism

/AWARNING

ALWAYS turn the motor switch OFF and check that the
motor has been already stopped.

6.1 Tension release block

(1) Loosen the screw®.

(2) When the rod of the thread trimming air cylin-
der is at the extreme left (when the trimming
knife device does not operate), even up the
edge of the tension release block(Q) and rod end
® of the air cylinder.

(3) Tighten the screw® securely.

6.2 Tension release connecting plate

Adjust it referring to Figs. 28 and 29.

(1) Loosen the lock nut(®@ of the air cylinder.

(2) Adjust the position of the switch holder® so
that the tension release connecting plate® is
in the center between the screw head® and the
tension release lever ®.

(3) Tighten the lock nut@®@ securely.

6.3 Thread pull-off lever

(1) Loosen the screw@ of the tension release le—
ver on the rear of the machine frame.

(2) Raise the thread pull-off lever® at the high-
est point.

(3) Tighten the screw@ securely.

Fig. 29

Fig. 30

VES/UT-A




6.Adjusting tension release mechanism

6.4 Looper thread pull-off

When using stretchable thread like woolly for the
looper, use the looper thread pull-off @D and the
. looper thread pull-off eyelet® if required.

VES/UT-A

18



6.Adjusting tension release mechanism
—

6.5 Tension disc separator

(1) Loosen the screw® of the tension release adjusting eccentric@.

(2) Position the tension disc separator® by turning the tension release adjusting eccentric@
so that the thread tension discs can open as fast as possible.
To open the thread tension discs fast, lower the tension disc separator®).

(3) Loosen the screw(®@ to set the top of the tension pull-off bar®@ 35 mm extruded from that
of the thread pull-off eyelet®).

(4) Tighten the tension pull-off bar@ to the thread pull-off bar holder® with the screw(?).

®
6.6 Thread pull-off hook unit ®

Adjust the position of the thread pull-off hook

unit® without remaining of the needle thread too \\\\
much on the fabric surface at the beginning of
sewing.

Loosen the screws® to adjust them.

@® To decrease the thread pull-off amount, raise
the thread pull-off hook unit®.

@® To increase the thread pull-off amount, lower
the unit @.

ACAUTION——ﬂ Flg. 92

1. If the thread pull-off amount of the hook unit @ is too
little, the stitch cannot formed at the beginning of
sewing.

2. Use the thread pull-off hook unit @ only when using
woolly thread for the looper. When not using, raise it
at the position the thread does not pull-off.

19 VES/UT-A



/ .Adjusting air wiper

(1) Loosen the screws®.

(2) Slide the air wiper(dD back or forth to blow the
air behind the needles.

(3) Tighten the screws@® securely.

(4) Loosen the screws@.

(5) Raise the needle at the highest point, and set
the center of the air blowing hole® of the air
wiper 1 —2 mm below the left needle eye.

(6) Tighten the screws@ securely.

(7) Adjust the air volume with adjusting screw of
the speed controller ®.

@® To decrease the air volume, turn it clock—
wise.
@ To increase the air volume, turn it counter—

clockwise.

/A CAUTION

1. Keep the air volume to a minimum.
2. It the air blows in front of the needles, the needle
thread may be slipped away from the needle eye. Make
sure that the air blows behind the needles.

©) 3
o]
ey
1_
2 mm ®/
Fig. 33
Fig. 34

VES/UT-A 20




8.Presser foot lifter mechanism

/AWARNING

motor has been already stopped.

ALWAYS turn the motor switch OFF and check that the

(1) Loosen the lock nut@).

(2) Turn the cylinder rod chip® to raise the
presser foot by 5 mm (without the spreader: 7
mm) when the cylinder rod®@ is lowered (when

the cylinder operates).
(3) Tighten the lock nut@ securely.

O

o ©

Fig. 35

21

VES/UT-A



9.5T2-A device

LWAYS turn the motor switch OFF and check that the motor has been already stopped.

( /AWARNING
A

\__/

9.1 Position of movable trimming knife

(1) Align the line of the handwheel @ with the
mark @ of the machine arm (the needle is at
the highest point).

(2) Insert a pair of tweezers through the hole @
to set the movable trimming knife® at the

lowest point.

NOTE

Never touch the movable trimming knife @ to the
presser foot, the left needle ®, and the spreader ®
when lowering .

If touched them, loosen the screws@ and ® to adjust it.

(3) Loosen the screw@ when the movable trimming
knife® is at the lowest point. Make the clear—
ance between the top of the stitch plate and
the movable trimming knife tip® to 5.5 — 6.0

nm.

NOTE

After adjusting above, the movable trimming knife ®
should be crossed over the top cover thread.

(4) After that, tighten the screws®@, ®), and
securely.
(5) Check the position of the movable trimming

knife®@ while moving it up or down.

” 5.h -
S A | 6.0 mm
AN IA A VA
stitch plate ©)
Fig. 37
£ ®
8
(o]
(o)
N @\ 0
4 L ©
3 =
top cover
thread
Fig. 38

VES/UT-A 22



NOTE

To adjust the speed of the movable trimming knife,
loosen the nuts M and turn the adjusting screws @ on
the speed controllers of the air cylinder.

@ To speed down, turn them clockwise.

@ To speed up, turn them counterclockwise.
The presser foot starts rising immediately after cutting
the top cover thread with the movable trimming knife.
Adjust the speed so that the movable trimming knife
does not touch the presser foot.

9.5T2-A device

Fig. 39

/AWARNING

ALWAYS turn the motor switch OFF and check that the
motor has been already stopped.

The engagement between the movable trimming knife
® and the fixed trimming knife @ has been ad-
justed as shown in Fig. 40.

Normally adjustment above is unnecessary.

NOTE

The stroke of the movable trimming knife is the same as
that of the air cylinder.

0-0.5m

Fig. 40

23

VES/UT-A




9.5T2-A device

9.3 Pressure of thread clamp spring

Keep the pressure to a minimum for holding the
threads.

(1) Loosen the nut®).

(2) Adjust the pressure with the adjusting screw@
so that the thread clamp spring@ and the mov-
able trimming knife @ hold the threads cut
with the knives.

To increase the pressure, tighten the adjust-

ing screw@).
(3) Tight the nut® securely.

Fig. 41

9.4 Adijusting thread pull-off hook unit

@® To decrease the thread pull-off amount, raise
the thread pull-off hook unit®.

@® To increase the thread pull-off amount, lower it

®.

NOTES

1. The feed of the thread should be as much as possible.
If not enough, the top cover thread cannot be held
after cutting.

2. When using stretchable thread like woolly, thread
through the top cover thread eyelet ®.

Fig. 42

VES/UT-A 24



ILLUSTRATED

SPARE PARTS LIST

VES/UT-A



UT-A IO DEVICE(T)

VES/UT-A



UT-ALI0 DEVICE(T)

UT-ATOOEE(T)

L

Ref.No Parts No. Description m % Amt. Req
1 0022836 Synchronizer Positioning Pin RIvarey 1
2 0022837 Synchronizer Cushion Yy areEvovygy 1
3 009736 Screw(M4-0.7 X 6) Exy 1
4 1096029 Air Tube{4 X 25mm)(Black) IF7Fa1—T(E8) -
5 0023381 Cord Clamp(6N- ¢ 10.6) A—kKoZv7 1
6-1 0094491 Cord Clamp(2N- ¢ 3.4) A—-RoZ207F 1
6-2 0063612 Cord Clamp(4N- ¢ 8.8)(for ST2-A) A—-Roov7 1
7 110013 Screw(M4-0.7 X 8) Exy 2
8 1095007 Speed Controller AE—=FRIO>bO—7 1
9 3161003 Air Wiper, C. Set iz b AN =) 1

10 3161004 Air Wiper VRS AN 1
11 110009 Screw(M4-0.7 X 8) xRy 2
12 000538 Washer Ty 4
13 3151011 Air Wiper Support IT7 7 JSER 1
14 110080 Screw(M4-0.7 x 8) = 2
15 3100529 Thread Pull-off Eyelet FEARE 1
16 3500530 Thread Pull-off Bar RIEAE 1
17 0063076 Swing-proof Spring RIEAEHIR/(R 1
18 0077179 Retaining Ring Ay IO T 1
19 3500514 Thread Pull-off Hook Unit SHIEX 7w U (18) 3
20 003657 Screw(M4-0.7 X 3) Exy 5
21 3500516 Thread Pull-off Hook Unit HRIBEX T v U (%8) 2
22 0094396 Thread Pull-off Bar Holder REABERER 1
23 007006 Screw(9/64-40 X 4) ERY 1
24 0033024 Retaining Ring Ay FUvy 1
25 3500360 Collar(9 x 15 X 7.5mm) ho— 1
26 160001 Screw(M4-0.7 X 4) ERy 2
27 0090856 Tension Disc Eyelet RAFMARE 1

() 74 FZ7REMTRICZ>TRBY 7YY v 2FAL T ERA,
Note : For Wiper, the air blowing system is used instead of Air Cylinder.

VES/UT-A



2

UT-A I DEVICE(2)

VES/UT-A



UT-A 10 DEVICE(2)

UT-A DOLEE(2)

2

L

Ref.No Parts No. Description m % Amt. Req
1 0063608 Switch Guide ZAYFHALR 1
2 000014 Washer A 2
3 110002 Screw(M3-0.5 x 5) IRy 2
4 3101587 Tension Release Connecting Plate B A ERE IR 1
5 110009 Screw(M4-0.7 x 8) Exy 2
6 170009 Screw(M4-0.7 x 4) Exy ]
7 3101588 Tension Release Block REXATOvY 1
8 009976 Screw(M6-1 X 15) xRy 1
9 3100567 Collar ' h>— 1

10 120001 Screw(M4-0.7 x 14) kxR 1
11 0014120 Anti-shock Rubber BEIA 1
12 1091160 Air Cylinder IFZIYE 1
13 3101586 Switch Holder AAYFE 1
14 1097007 Silencer ALY 1
15 0010057 Elbow Connector(¢ 4-PT1/8) T)LRART S 1
16 1096029 Air Tube(4 X 2.5mm)(Black) I7Fa—7(&) -
17 000498 Washer Ty 1
18 3101585 Air Cylinder Bracket IFVUVEE 1
19 120006 Screw(M6-1 x 12) bxy 2
20

21 0012071 Cylinder Return Spring VYUTRYINFR 1
22 3101590 Plunger Ty 1
23 180006 Screwed Pin(M5-0.8 x 6) Erxy 1
24 3100523 Connecting Block(Right) Support Spring  E#E 70w 7 X T/NX 1
25 3120157 Connecting Block(Right) BETOY U (A) 1
26 100002 Nut(M5-0.8) Fv ks 3
27 190029 Connecting Rod(M5-0.8 x 40) pE=S Y = 1
28 3100538 Connecting Block(Left) EBETOv I (E) 1
29 1066138 Switch, Complete Set R Ay F(#8) 1
30 0063607 Switch Support A4y FEUTHR ]
31 110062 Screw(M35-0.6 X 8) xRy 2
32 1066127 Switch A1y F 1
33 0011720 Connector Cover R FHIR— 1
34 0010923 Connector aAxRI % 1
35 0063609 Switch Cover ATy FHIN— 1
36 009984 Screw(M2.3-04 x 10) kxy 2

VES/UT-A



3

UT-A 10O DEVICE(3)

VES/UT-A



UT-A IO DEVICE(3)

UT-AOOEE(3)

3

RefNo Parts No. Description m % Amt. Req
1 3151006 Looper Thread Pull-off Eyelet J—IRRIBARE 1
2 3151001 Upper Knife Carrier Support Spring EXX&EXTT/\x 1
3 110030 Screw(M3-05 X 2.6) xRy 3
4 3151000 Lower Knife Carrier Guide TARBHAIR 1
5 110026 Screw(M3-0.6 X 6) xRy 2
6 3151015 Trimming Mechanism, C. Set UT##5 (1) 1
7 3100506 Lower Knife Driving Lever TARXEREL /X— 1
8 170005 Screw(M4-0.7 X B) Exy 2
9 3151004 Lower Knife Carrier TARE 1

10 3151020 Looper Thread Pull-off IL—ICREBEXAR 1
11 3100513 Lower Knife TAR 1
12 3100560 Supplementary Spring EXREEH/NFR 1
13 3500503 Upper Knife Carrier EXZEH 1
14 190006 Screw(M4-0.7 X 4) ERY 2
15 3100512 Upper Knife EXX 1
16 110024 Screw(M2-04 % 6) kExy 2
17 110025 Screw(M2-04 X 10) Ry 1
18 110023 Screw(M2-04 X 3.5) ERY 1
19 3100507 Upper Knife Guide EAZAALR 1
20 3100508 Clamp Spring FRIEINNE 1
21 3100509 Clamp Spring Pressure Rz By 1
22 3100510 Clamp Spring Pressure Holder B2 VRV RUGIR 1
23 130005 Screw(M2-04 x 4) kxy 2
24 3100511 Clamp Spring Pressure Adjusting Piece k&I /NI RAEH 1
25 100006 Nut Fv b 2
26 3100503 Knife Guide Lever AZAHARLIIN— 2
27 3100504 Knife Guide Lever Ring(Left) ARAARLIN=) VT (k) 1
28 130003 Screw(M4-0.7 X 7.3) xRy 2
29 3100505 Knife Guide Lever Ring(Right) ARXHA KL= VT (H) 1
30 3100515 Upper Knife Carrier Spring EXZXBINXR 1
31 170006 Screw(M4-0.7 X 2.5) xRy 1
32 3100579 Crank Chamber Cover FTHhAN— 1
33 3500510 Upper Knife Carrier Stop EAREBEZ YR 1
34 130021 Screw(M4-0.7 X 6)[M4-0.7 X 5} Exy 1
35 130004 Screw(M4-0.7 X 14)[M4-0.7 x 12] ERY 1
36 000002 Spring Washer ATV IOy oy 1
37 110091 Screw(M3-05 x 2.6) xRy 1

VES/UT-A



UT-A0O[C DEVICE(4) VES2700-8

UT-A34/ST2-A

O

Y

§ N : Y
31 @\\\%@ 30 %@
<9 -\\L ; L \L

VES/UT-A



UT-A 10O DEVICE(4) VES2700-8

_

UT-AODEIE(4)

4

Ref.No Parts No. Description m 4 Amt. Req
1 1097009 Regulator L¥al—% 1
2 110017 Screw(M5-0.8 X 8) ExY 2
3 000426 Washer AR ¢ 2
4 000600 Spring Washer ATV T Ty o+ 2
5 1253240 Regulator Support L% 21 L—% IR 1
6 006905 Wood Screw(¢ 5.1 X 20) AR 2
7 0033939 Hose Band IR—ZNV R 1
8 0010108 Hose Union IR—R1=HY 1
9 0010264 Connector(¢ 6-PT1/4) aAxRI% 1

10 1096030 Air Tube(6 X 4mm)(Black) IF7Fa—T(8) -
11 0011795 Wrapping Band(2.3 X 92) =3 VAW 2
12 3500550 Presser Foot Lifter Cylinder, C. Set BIBTYVYER) 1
13 1091146 Air Cylinder bk VAN VA 1
14 3201037 Cylinder Rod Chip vyvyay RFv S 1
15 3500505 Cylinder Bracket TUVEE 1
16 000425 - Washer TyvIy 4
17 120013 Screw(M6-1 X 15) kxy 2
18 0010055 Connector(¢ 4-PT1/8) aAxo 5 2
19 1090248 Solenoid Valve, C. Set B (R) 1
20 1090185 Manifold NZT7AILR 1
21 1090242 Solenoid Valve EEr 3
22 0010119 Blank Plug XOSTZ50 3
23 1097007 Silencer ALY 2
24 1094056 Connector{¢ 6-PT1/8) axU45 1
25 110089 Screw(M4-0.7 x 35) Ry 2
26 3101242 Solenoid Valve Holder BEAE 1
27 005049 Screw{M5-0.8 x 8) TRy 2
28 0023381 Cord Clamp(6N- ¢ 10) A—kKOZv7 1
29 110013 Screw(M4-0.7 X 8) R 1
30 1094055 Plug a4 1
31 1094055 Plug 777 2
32

33 1200452 IntermediateCable(UT-A34UT-A34/ST2-A) sk — 7)1 1
34 1096029 Air Tube(4 X 2.5mm)(Black) IF7Fa—7(8) -

VES/UT-A



5

UT-A44 DEVICE(4) VEU3712-8

UT-A44 UT-A44/ST2-A

VES/UT-A



UT-A44 DEVICE(4) VES3712-8
e —

UT-A44 =& (4)

5

RefNo Parts No. Description m Amt. Req
1 1097009 Regulator L¥alL—% 1
2 110017 Screw(M5-0.8 x 8)[M5-0.8 x 18] jI= S 2
3 000426 Washer Ty 2
4 000600 Spring Washer A7V T Ty 2
5 1253240 Regulator Support L& 2L —¥BfHR 1
6 006905 Wood Screw(¢ 5.1 x 20) RARY 2
7 0033939 Hose Band R—ZINV R 1
8 0010108 Hose Union R—RAZAY 1
9 0010264 Connector(¢ 6-PT1/4) aAx04% 1

10 1096030 Air Tube(6 X 4mm)(Black) IFPFa—7(8) -
11 0011795 Wrapping Band(2.3 X 92) FRINVR 2
12 3500550 Presser Foot Lifter Cylinder, C. Set WMTigs oY V5 #) 1
13 1091146 _Air Cylinder HIBryUvsy 1
14 3201037 Cylinder Rod Chip vyvyOy RFy 1
15 3500505 Cylinder Bracket YYvEE 1
16 000425 Washer TvIy 4
17 120013 Screw(M6-1 X 15) kxy 2
18 0010055 Connector(¢ 4-PT1/8) ax05 2
19 1090249 Solenoid Valve, C. Set B (1) 1
20 1090187 Manifold NZT7AIK 1
21 1090242 Solenoid Valve BT 4
22 0010119 Blank Plug XIS5T50 3
23 1097007 Silencer ALY 2
24 1094056 Connector(¢ 6-PT1/8) ARV % 1
25 110089 Screw(M4-0.7 X 35) kxy 2
26 3101242 Solenoid Valve Holder BHAE 1
27 005049 Screw(M5-0.8 x 8) kxry 2
28 0023381 Cord Clamp(6N- ¢ 10) d—KRoOZ27 1
29 110013 Screw(M4-0.7 x 8) kxy 1
30 1094061 Reducer L7Fa—Y 1
31 1094055 Plug VAl 3
32 1094055 Plug 77 2
33 1200454 Intermediate Cable ik — I 1
34 1096029 Air Tube(4 x 2.5mm) (Black) IL7F21—7(8) -

VES/UT-A



6

ST2-A DEVICE

VES/UT-A



ST2-A DEVICE

ST2-A%& 6
=
RefNo Parts No. Description m A Amt. Req

1 3519903 ST2-A Device, C. Set ST2-AZEE (fH) 1

2 3101800 Trimming Device, Complete Set A XEE (fE) 1

3 3101805 Bracket 75wk 1

4 1091145 Air Cylinder IrIUsy 1

5 1095001 Speed Controller A—kaAYbO-7% 2

6 3101809 Movable Trimming Knife Holder EARE 1

7 3101801 Movable Trimming Knife BIAX 1

8 270019 Screw(1/8-44 x 3) ExY 1

9 3101806 Knife Guide AZXHAR 1
10 110001 Screw(M4-0.7 X 5.4) Fxy 2
11 3101802 Fixed Trimming Knife BEX X 1
12 110023 Screw{M2-04 x 3.5) IExy 4
13 3101810 Thread Clamp = 1
14 100058 Nut Fv bk 1
15 3101808 Thread Clamp Spring =R 1
16 009791 Adjusting Screw(M3-0.5 X 6) BRI 1
17 110054 Screw(M3-0.5 X 3.5) xRy 3
18 3101804 Holder Support BAZXAEZT 1
19 3510101 Positioning Plate(Upper) FIER AR (L) 1
20 000665 Washer A 4
21 120052 Screw(M4-0.7 X 10) Txy 4
22 006202 Screw(M4-0.7 X 6) Fxy 2
23 3161011 Positioning Plate({Lower) FIERAR(T) 1
24 3100711 Top Cover Thread Eyelet Bl RE 1
25 006035 Screw(9/64-40 X 7) xRy 1
26 000644 Spring Washer ATV T Ty 1
27 000322 Nut vk 1
28 0036133 Cord Clamp{5N- ® 8.4) d—kKoz>v7 2
29 110013 Screw(M4-0.7 % 8) bExy 1
30 1096029 Air Tube({4 X 25mm)(Black) IF7F2—7(B8) -
31 001123 Washer Tvy 2

VES/UT-A



yjamato

PYRZDUEERIER
YAMATO SEWING MACHINE MFE. 00 LTD)

P/N 9730171 (P/1)

No.1 Edited in 2006.6
(VES/UT-A) Printed in Japan 2006.7.1H (Y)



	CONTENTS
	CONTENTS
	[P1]   1. Proper operation
	[P1]   1.1 Operating procedure for UT-A34 device
	[P2]   1.2 Operating procedure for UT-A34/ST2-A device
	[P3]   1.3 Operating procedure for UT-A44 device
	[P4]   1.4 Operating procedure for UT-A44/ST2-A device

	[P5]   2. Wiring
	[P5]   2.1 Detector switch
	[P5]   2.1.1 Adjusting detector switch
	[P5]   2.1.2 Connecting detector switch

	[P6]   2.2 Connecting intermediate cable
	[P6]   2.2.1 Solenoid valves side
	[P6]   2.2.2 Motor side
	[P6]   2.2.3 Solenoid valve number and intermediate cable part number


	[P7]   3. Air piping diagram
	[P7]   3.1 UT-A34 device(VES2700-8 class)
	[P8]   3.2 UT-A34/ ST2-A device(VES2700-8 class)
	[P9]   3.3 UT-A44 device(VES3700-8 class)
	[P10] 3.4 UT-A44/ST2-A device(VES3700-8 class)

	[P11] 4. Installing synchronizer
	[P12] 5. Adjusting thread trimming mechanism
	[P12] 5.1 Thread trimming air cylinder
	[P12] 5.2 Position of lower knife
	[P12] 5.3 Reletion between upper and lower knives
	[P13] 5.4 Positions of clamp spring and clamp spring presser
	[P13] 5.5 Pressure of clamp spring
	[P13] 5.6 Position of upper knife carrier
	[P14] 5.7 Relaltion between lower knife and needle
	[P15] 5.8 Position of lower knife tip
	[P15] 5.9 Lower knife carrier guide(upper)
	[P16] 5.10 Relation between lower knife and needle thread or looper thread

	[P17] 6. Adjusting tension release mechanism
	[P17] 6.1 Tension release block
	[P17] 6.2 Tension release connecting plate
	[P17] 6.3 Thread pull-off lever
	[P18] 6.4 Looper thread pull-off
	[P19] 6.5 Tension disc separator
	[P19] 6.6 Thread pull-off hook unit

	[P20] 7. Adjusting air wiper
	[P21] 8. Presser foot lifter mechanism
	[P22] 9. ST2-A device
	[P22] 9.1 Position of movable trimming knife
	[P23] 9.2 Engagement between movable and fixed trimming knives
	[P24] 9.3 Pressure of thread clamp spring
	[P24] 9.4 Adjusting thread pull-off hook unit

	ILLUSTRATED SPARE PARTS LIST



